B2

He likes to read, he doesn't like to write.

Answer:

| want to go to the party, I have to finish my homework first.
Answer:

She studied hard, she failed the exam.

Answer:

| can't eat dairy products, I'm lactose intolerant.
Answer:

He is tall, his brother is short.

Answer:

She loves pizza, she doesn't like burgers.

Answer:

He went to the store, he forgot to buy milk.
Answer:

I'm tired, | can't go to the gym.

Answer:

She always arrives late, she never misses a class.
Answer:

He has a lot of money, he doesn't like to spend it.

Answer:




Answers

He likes to read, he doesn't like to write.

Answer: but

| want to go to the party, I have to finish my homework first.
Answer: but

She studied hard, she failed the exam.

Answer: but

| can't eat dairy products, I'm lactose intolerant.

Answer: because

He is tall, his brother is short.

Answer: while

She loves pizza, she doesn't like burgers.

Answer: but

He went to the store, he forgot to buy milk.
Answer: but

I'm tired, | can't go to the gym.

Answer: so

She always arrives late, she never misses a class.
Answer: yet

He has a lot of money, he doesn't like to spend it.

Answer: but



